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802 +(—4) = (-3) P -7=
9% +2= 16D 4 (=1) =
2>~ (~10) = (-10)2 — (=5) =
2-(=8) = (—10)7" +5=
(—8)* —(~10) = (=32 — 1=
70— (-6) = 50— 6=
6= (-6 +(-9) =
9> +(-3) = 106D + (-9) =
9 +(=8) = 80— (~10) =
672 +5= 224 (-2) =
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255 63
D) 4y = (~ 222y = (322
D=0 =3-)
9° +2=83
2°—(-10)= 14

2—(-8)=10

(—8)> — (—10) = 74

43 1
D _(—gy= = —
7 (~6) = = = 63
1°+6=7
9% +(-3) =78
9" +(—8) = (-7)

181 1
(_2)+ - = &5___
6 >~ 36 3%

feiep:
(3P =7= (%)= (-6)
1D+ =n=0

(—10)* — (-5) = 105
(—10)V +5= % = 4%
(-3)°-1=28

S —6= (-2) = (-55)
(—6)* + (-9) = 27

107 +(-9) = (~0) = (-8:0)

8% — (-10) = 11

2°+(-2)=2
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